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1 | 2210238-56-3 trioxide, hydrolyzed, JH 2 2 5 0.0014 14 1000 589.6 25.56 5.11 4.27 1.94 0.388 14 0.014
potassium salts
Hexadecene, reaction
products with sulfur o
2 | 2210238-42-7 trioxide, hydrolyzed, *ﬁ)(l:’g’r 3 2 = 0.013 13 1000{ | 422.66 23.16 4.63 19.19 Z 9.89 i 1.98 13 0.13
potassium salts
}?}b?S—(3, 5—*:)—t \
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7N | ’
—FFY—1, 21 (6)
—A X FASUDORIG
£ (57 FE1, 000K
BOESTDEBEEIN1%
UTTHAHALDIZRES, )
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1 | 70445-33-9 1. 2—SH—)L 2 3 = 0.0042 42 10000 42 0.042
1, A—SAXFSIANFH T
2 | 54982-83-1 v—5, 16—74Y 1 4 = 0.00088 0.88 1000 17 0.61 0.061 14 |>| 14 0.88 0.0088
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5 | 2216-51-5 ;5)—1/"9‘”/“/’7':"\**7“9—1— 3 3 th 0.015 15.6 1000 21.4 9.65 0.965 26.6 2.66 15.6 0.156
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6 | 25085-02-3 S_LEAY 3 3 h 0.027 270 10000 270 0.27
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8 | 6153-56-6 22BN 3 i 0.037 378 1000 31 13 1.3 21 2.1 37.8 0.378
9 64-19-7 EFEL 3 h 0.045 45 1000 55.22 16.16 3.232 18.9 227 4.54 45 0.45
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2—AF)L—3—(p—AYTHEI
22 |  103-95-7 J1= L) FAOEALTILTFER 2 4 th 0.0014 1.4 1000 4.3 0.72 0.072 1.4 0.014
23 | 142-82-5 n—~"JF8> 2 4 i 0.0015 1.5 1000 1.5 0.015
24 | 334-48-5 THhUB 2 4 & 0.0016 0.082 50 12 0.97 0194 [>] 20 0.082 00164 [ >| 16 [>] 0.6
25 | 706-14-9 E—~FIIIFFXYSU—2—F 2 4 i 0.0018 18 10000 18 0.018
26 | 103-11-7 FHYIEE2—ITFILAEXIIL 2 4 & 0.0018 1.8 1000 1.71 0.45 0.045 1.3 0.13 1.8 0.018
3—(4—tet—TFILTz=I)L)T
27 | 18127-01-0 BAF—IL 2 4 o 0.0018 1.8 1000 1.8 0.018
=
28 | 123-86-4 BRI FIL =8 0.0018 18 10000 18 0.018
29 | 65405-77-8 3—~"FHEZIJHYFL—F & 0.0019 0.19 100 0.61 0.19 0.019 2.7 0.27
AIRVBY (Bl 2—AFI)LT
30 78-78-4 82) 2 4 h 0.0023 2.3 1000 2.3 0.023
Coa_ FILEIJL(C=20~22) (RJAF
31 | 68607-24-9 )Py L= AR 2 4 h 0.0025 0.128 50 3.48 0.78 0.156 1.39 0.128 0.0256 3.5 0.035
3—AFIL—4—(2, 6, 6—hKJA
32 | 127-51-5 FILLYAANFH —2—T—1— 2 4 b 0.0026 2.65 1000 2.65 0.0265
AI)THR—3—To—2—F>
a—[4—(2, 4, 4—FJAFLR
33 | 9002-93-1 VB —=2—f)L)TTZ]—w— 2 4 =2 0.0030 3 1000 220 22 4.4 14 4.6 0.92 3 0.03
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35 | 30525-89-4 R (FFAFLY) 2 4 th 0.0039 39.1 10000 39.1 0.0391
FRIDL=[(FFTIILFTFI)A
36 | 1847-58-1 ARSI A Z L kF—K 2 4 0.0042 4.2 1000 6.8 0.86 0.086 5.9 0.59 4.2 0.042
37| 109-66-0 n—RUBY 2 4 0.0042 4.26 1000 10.7 2.04 0.204 2.7 0.27 4.26 0.0426
MR (2—EFRFITREL) 7S |
38 | 122-20-3 g][z‘:"J%:H)«r‘D"l:l/\/—“f7= ng 2 4 rh 0.0064 0.64 100 710 0.64 0.064 857 8.57 >| 1000 [>| 10
-~ FH
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39 | 68912-13-0 AT L=TOF+F—F 2 4 h 0.0067 6.7 1000 2.5 1.8 036 || >| 14 1 0.2 6.7 0.067
FIALURIVRVBRERILLT L
40 | 9084-06-4 RO EAMDFR Y Lt 2 4 h 0.0070 70 10000 10.2 1.02 70 0.07
2—IF)—3—krOFT—y —
41| 4940-11-8 Eos 2 4 h 0.0077 0.77 100 7.2 0.77 0.077 27 2.7 >| 85 |[>]| 085
o 4—tert— T FILVANFTH —
42 | 32210-23-4 =Pt 2 4 h 0.0086 8.6 1000 22 6.8 0.68 5.3 0.53 8.6 0.086
43 78-69-3 3, 7= AFIA DR —3—F— 2 4 th 0.0089 8.9 1000 21.6 8.5 0.85 14.2 1.42 8.9 0.089
44 | 542-92-7 1, 3—/AaRVASTIY 2 4 i 0.0091 0.91 100 13 0.91 0.091 5.06 0.506 46.5 0.465
45 | 115-95-7 Eefg) L 3 4 & 0.011 11 1000 16 9.6 0.96 6.2 0.6 11 0.11
FFRIDL=2, 27 —[(1=Al S S S
46 | (164462-16-2)| 2-3895 |RF¥FSFIFILIAZ/ICTE 3 4 th 0.013 0.65 50 375 0.65 013 || >| 100 100 (7| 20 (7| 110 |Z]| 1.1
H—F i - i
47 | 1247790-47-1 3, 6—CAFINATE—2—F— 3 4 i 0.013 13 1000 30 5.3 0.53 13 0.13
oo AFIL(2—RUFII—3—FFY
48 | 24851-98-7 AR T T — 3 4 h 0.015 0.79 50 45.9 11.7 2.34 8.25 0.79 0.158 19 0.19
FAEZFEIE M (INaIE D E, Calg
49 | 1592-23-0 AN L=CF 93 Th/7—h 3 4 h 0.019 0.95 50 35 35 07 | >| 100 0.95 019 | >| 27 |>| 0027 D IKBEEEHY0.95 mg/LEKiFEE
HIBLI= B BT I IEHIRT B
50 | 104-76-7 2—IFIAZTHYY—1—F—)L 3 4 & 0.020 2 100 16.6 2 0.2 39 3.9 28.2 0.282
5> (zjtel.t__j?:)bzgnA%y 139504-68-0 (Fr A D EEIK
IWAED)—1—-TR/— LR i gl
— (2—tert—TFILHO~NED DIEER ., [ L LogPDIEZED T
51 3-4257 | ey 0l Sa RS 3 4 th 0.022 0.22 10 12 15 15 5.9 1.4 1.4 4.1 0.22 022 |HMELTIEBOCKRELSR
% - BELH->CL AN T DEE
)
o N—(2—F73/IF))—2—F3/| 7=
52 | 111-41-1 Th—) S| 8 4 h 0.022 22 1000 500 62.5 6.25 22 0.22 640 6.4
3, 7T—CAFI/F—1,6—T
53 | 10339-55-6 > 7 f) 4 7 3 4 h 0.024 24 1000 25.1 6.3 0.63 23 2.3 24 0.24
v—=3—F—IL
3, 7—UAFIL—1, 6—F95>
54 78-70-6 TS —3—A— )L 3 4 h 0.028 28.8 1000 156.7 5.6 1.12 36.7 9.5 1.9 28.8 0.288
—KI s
55 | (288-88-0) | 5-5776 | 2 ATRUTY— 3 4 o 0.031 3.1 100 14 3.1 031 || >]| 98.1 9.81 498 4.98
56 87-69-4 DL—BHE 3 4 h 0.031 3.125 100 51.4043 3.125 0.3125 93.313 9.33 >| 100 |> 1
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109-83-1 Z :E 3 4 == 0.031 3.13 100 28.1 3.13 0.313 33 0.33 100 1
*H
108-91-8 YIANFF Y —1—ALTRY j ;E 3 4 ch 0.032 1.6 50 34 5.7 1.14 36.3 1.6 032 [>| 100 |> 1
*H
RILTILAO(2—AFILRUE
(756-13-8) 2-4024 |—3—7#) 3 4 = 0.034 3.47 100 10.6 3.47 0347 || > | 1080 > | 1070.0
EDTA. EDTAF RO LIE. &
UEDTAAY Y LIEZER—IZHk
LN ITFLUSTIVAUYGLD
IFLOSTIVMBEBEOAYYS L N EMHEICHBREL-,
Blumstma 15 3 4 H 0.036 0.36 10 6.7 0.36 > | 110 6.2 > | 110 2l 29
[NITE]MITI2-12650 & H1H R
#=HE(ZERFE(7379-27-3,
2001-94-7, 17572-97-3,
5964-35-2)
18479-58-8 g’_ 671___‘/)?” VAO3 =TTy 3 4 h 0.038 38 1000 80 25 2.5 38 0.38
1758-73-2 ZEIEFAYILT 3 4 ch 0.042 213 50 5.77 1.154 48.96 213 0.426 416 416
71-41-0 1—RUB/)—)L 3 4 ch 0.047 472 10000 341.21 3.41 472 0.472
141-78-6 EEEE TFIL 3 4 rh 0.048 2.4 50 >| 100 | > 20 2500 2.4 048 [ >| 756 |>]| 0.756
124-07-2 TR 3 4 rh 0.051 51 1000 39 15.2 152 63 6.3 51 0.51
oo EROFSIFIILIFLUOOTIY | 7S
139-89-9 = W R E (Na) S| 3 4 ch 0.052 10.4 200 10.4 192 1.92 331 3.31
T 2—{[3— (RUAREL L)L) T > >
2530-83-8 H S AFIL AT 3 4 ch 0.055 55 1000 350 130 26 473 “1 100 [Z] 20 55 0.55
121-33-5 NS 3 4 h 0.057 57 1000 120 47 9.4 36.79 5.9 118 57 057
104-61-0 E—RUFIVAXIS—2—F> 3 4 ch 0.059 59.6 1000 63.5 7.62 0.762 59.6 0.596
105-59-9 N=AFIDTR/ =TIV j | 3 4 th 0.062 6.25 100 | >| 100 6.25 0.625 230 2.3 1170 117
*H
8002-26-4 h—JLiH 3 4 o |#y| 0062 |#| 62 100 [#9| 407 # 62 |#] 0620 [>] 119 |[>| 1.19 >| 78 |>| 0078
p—=kODJxT/—)LDAIEEMN
= VAN = - L
_7a_ = _ I EHEFFEBREL-EKXY
824-78-2 p—=—kOT7z/—)LFRYH L 3 4 ch 0.074 0.746 10 0.25 10 10 4.7 13 13 3.8 0.643 L T e e g g s
PNECZE H
78-83—1 ()T R)—)L 3 4 ch 0.080 4 50 1799 117 23.4 1100 4 0.8 1330 133
79-14-1 kO EEES 3 4 =] 0.088 4.4 50 > 32 10 2 > 32 4.4 088 | > 56 >| 056
78-96-6 1—F3/—2—FOs/8/—)L j ;E 3 4 ch 0.10 108.82 1000 32.7 15.1 151 108.82 1.09 2520 25.2
*H
2605-78-9 L{"ﬁ"(’w*”’W:/:’r*’ 3 4 th 0.10 10 100 49 10 | 150 15 > 100 |>] 1
o 2—AFILAFLSUAFLSY > > >
9038-43-1 S ADE I EF S T L 3 4 ch 0.10 Z | 1000 10000 2| 1000 |~ 1
—KI N S ) » A=
LF?:J’;‘JL\‘IJ73/§:I~U271’§"/6— S S S N N gﬁ%ﬁ?-@b‘ﬁb*}ft‘ﬁb\fz
37640-57-6 > 4 6 RUTE DI (1 3 4 ch 0.15 g 7.64 50 “| 764 |Z] 153 | > | 10000 ‘110 |2 2 §E$%H€O(+¢(_PNECE
1) °
_EA_ 3— (3, 4—oyAA7x=)L) —
330-54—1 1S AFILRE 1 5 ek 0.00012 0.025 200 0.025 0.00125 1.9 0.56 0.056 14.2 0.142
112-31-2 1—=FThFT—IL 1 5 ch 0.00014 1.45 10000 117 0.0117 1.45 0.00145
SoHAnEU LTIV 73
101-83-7 S| 5 ch 0.00032 0.016 50 23 0.016 0.0032 8 0.049 0.0098 12 0.12
N, N—DAFILT7 =Y 7=
121-69-7 S| 5 ch 0.00050 5 10000 5 0.005 53.7 0.0537
*H
| —_
107-18-6 7T Ia—I 1 5 ch 0.00058 0.589 1000 5.38 0.93 0.186 2.05 i 0.919 i 0.184 0.589 0.00589
4,4 —FFLTT=T -
101-80-4 S| 5 ch 0.00066 0.663 1000 28 3.9 0.39 0.663 0.00663 >| 52 |>| 052
108-87-2 AFNoanxyy 1 5 ch 0.00067 0.067 100 0.34 0.067 0.0067 0.33 0.033 2.1 0.021
Con o —EFA—w—(FLAAMILAF
9004-96-0 YR FESTFL ) 1 5 rh 0.00072 0.072 100 [ >| 527 0.072 0.0072 77.2 7.72 59.9 0.599
112-41-4 FFh—1—xT> 1 5 == 0.00082 0.041 50 |>| 0.097 0.059 0.0118 0.041 0.0082
ANTRAXRZoOLEEZFR)
7789-12-0 & I8 = IKEIH 1 5 ch 0.00092 0.046 50 1.2 0.25 0.05 0.48 0.046 0.0092 [ >| 100 1
118-58-1 2—EFAF SR EBTBAUDIL 1 5 ch 0.0010 1.03 1000 1.29 0.502 0.0502 1.16 0.116 1.03 0.0103
EX(OAFILY HILINTR—
137-30-4 p (2()/3 z )ﬁﬁjf 1 5 ch 0.0010 0.0109 10 0.0358 0.0109 0.0109 0.048 0.078 0.078 0.57 0.101 0.101
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m

91 591-27-5 m—F73/Jx/—)L 5 1 5 == 0.0010 0.05 50 62 25 5 0.447 0.05 0.01 121 1.21 121
S BEIANIIEZENHETINST:
92 | 8050-09-7 asy 2 5 == 0.0010 1 1000 100 “ 1 100 10 911 91.1 > 1 > 0.01 ODAREFINLTEHETZE
- H
93 65-85-0 Z BB 2 5 =] 0.0011 0.11 100 33.1 0.11 0.01 > 100 |> 10 44.6 0.446
94 123-72-8 n—JFILTILTER 2 5 =n 0.0013 13.4 10000 23.56 134 0.0134
95 93-92-5 1—JIZ)LIFIL=FHtE—F 2 5 = 0.0018 18.32 10000 18.32 0.0183
26 101-84-8 JT/{XIREY 2 5 = 0.0018 1.8 1000 0.58 0.32 0.032 2 0.2 1.8 0.018
97 131-57-7 %;'/:ﬁ BF—4—AhFRYY 2 5 ch 0.0018 0.18 100 0.67 0.18 0.018 1.9 0.19 3.8 0.038
98 95-13-6 1TH—A T 2 5 = 0.0022 2.2 1000 4.3 1.3 0.13 2.2 0.022
ROEBRIKRVEEDTILFIL(C
99 | 68584-22-5 —10~16) ik 2 5 = 0.0030 3 1000 170 2.9 0.29 3 0.03
3—(AFJLRIILT7=)L)FTAN
100| 3268-49-3 +—)L 2 5 =) 0.0031 0.158 50 0.994 0.158 0.0316 7.15 0.315 0.063 6.95 0.0695
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2(¥7’:(i4)\—>‘3‘)b—4, 6 (Ff=
256 | 106264-79-3 (2, 6) —ER(AFILRIILITF7= 28 VA 0.00073 7.3 1000 7.6 1.9 0.19 0.9 0.09 7.3 0.073
JL)—1, 3—RUEUTTIY
257 1678-91-7 IF,Looanixygy VA S 0.00075 0.75 1000 0.63 0.22 0.022 0.67 0.067 0.75 0.0075
258 100-52-7 RNORXT7ILTER vAs ZAy 0.0010 1.07 1000 32.0 2 0.2 50 5 1.07 0.0107
Cal EX(Q2—IFIAFH—1—oA
259 142-16-5 ) =27 —k 2 VAN 0.001 0.1 100 0.1 0.01 100 0.1
260( 13189-00-9 FE=E ZAARH1)S5—k A} VA 0.001 0.1 100 0.56 0.1 0.01
1—[(38R, 3aR, 7R, 8aS) —3,
6, 8, 8—TrISAFIL—2, 3, 4,
_ER_ 7. 8, 8a—~AFHEFO—1H—3
261| 32388-55-9 o T AT R —B— A L] T &\ T4 0.0014 0.0716 50 0.0716 0.0716 0.0143 0.21 0.087 0.0174 0.184 0.00184
BRI
262 90-02-8 2—ERFAX AT ILTER 2 VA A} 0.0016 1.62 1000 4.76 0.55 0.11 2.6 0.126 0.0252 1.62 0.0162
e 4, 4’ —yantHr—1, 1—
263| 843-55-0 SAILSTEI— L 2 &\ &\ 0.0018 1.8 1000 3.64 0.92 0.092 1.81 0.18 1.82 0.018
264 120-57-0 EXAa,—)L 2 &\ &\ 0.0025 25 1000 31 1.1 0.11 52 5.2 25 0.025
265| 830-13-7 ooakTh/ > 2 VA ZAy 0.0025 2.5 1000 7.77 4.63 0.463 25 0.025
266 111-71-7 T4 —)L 2 VA A} 0.0027 0.27 100 29 0.27 0.027 413 0.413 12 0.12
II~-"F°/1I:.7°I:I7I€-"F°/1I:.Z)LZI—)L
267| 154518-36-2 (C=9~11.C=10z"maH. 1 2 4} 1 0.0030 3.08 1000 7.98 2.2 0.22 7.93 0.793 3.08 0.0308
VR
268 590-86-3 3—AFIILTZF—)L 2 VA VA 0.0032 3.25 1000 112.78 71.89 7.19 177 17.7 3.25 0.0325
269 108-46-3 LY LY 2 VA VA 0.0034 0.172 50 97 97 194 1 0.172 0.0344 26.8 0.268
270 111-13-7 2—FAHR/ 2 VA A} 0.0036 36 10000 36 0.036
271 135-19-3 2—FTJk—)L 2 VA A} 0.0040 4 1000 2.1 0.58 0.116 5.3 0.69 0.138 4 0.04
1, 3, 5—FJR(CAFIVTZIT _—
272| 15875-13-5 AELAFYERR—T, 3, 65—k 75 28 oA 0.0040 0.4 100 71.7 0.4 0.04 62.6 0.626 100 1
T ov -
273 1321-74-0 CEZ ALY 2 VA A} 0.0041 4 1000 1.7 0.81 0.162 2 0.353 0.0706 4 0.0416
274  110-25-8 N—AFJL—N—ALAAILT)S VA A} 0.0043 0.43 100 6.3 0.91 0.091 0.43 0.043 0.43 0.0043
275| 96-96-8 2—=FA—p=7=2 j SE 748 5} 0.0044 4.4 1000 12 0.47 0.047 4.4 0.044 41 0.41
i 2—AFILRUAFT—IL(FlE 2—
276 123-15-9 AFILALILTILTFER) &\ T2 0.0047 0.47 100 6 0.47 0.047 15 15 18.8 0.188
277| 110-83-8 hanity VA A} 0.0058 5.8 1000 3.6 0.67 0.134 2.1 0.74 0.148 5.8 0.058
278| 25339-17-7 A4)Th/—IL VA ) 0.0059 5.9 1000 6.8 1.7 0.34 3.5 0.4 0.08 5.9 0.059
(R) —2—AFJL—5—(FA/\—1
279| 6485-40-1 —Iv—2—q)L)yanitH— VA & 0.0061 6.1 1000 19 4.3 0.43 38 3.8 6.1 0.061
2—I—1—H#>
280 100-69-6 2—EZILEYDY VA 4} 0.0065 6.5 1000 62 27 5.4 9.5 0.9 0.18 6.5 0.065

_‘IO_




Con vhoanxtyr—1, 3—2A)LE | 7=
281| 2579-20-6 2AF LTI <4 2 & VAN 0.0065 65.4 10000 56.7 13.7 1.37 65.4 0.0654
282 119-36-8 AF)=2—ErRAFIRYT7—hk 2 A 4} 0.0079 0.79 100 1.6 0.79 0.079 > 100 | > 0.1
283 103-83-3 N, N—OAF LA LTI 2 VA G4 0.0080 0.4 50 1.4 0.4 0.08 69 0.789 0.158 24 0.24
284 142-62-1 ANTH R 2 A} vAS 0.0088 88 10000 88 0.088
2,2 —EX(4 —eFOXxL —
285 79-94-7 3,5 —oJaox7z=)L)7an 2 &\ &\ 0.0091 9.19 1000 9.48 1.98 0.396 7.87 0.8 0.16 9.19 0.0919
>
286 106-24-1 FS=—A—)L 2 VA VA 0.010 1 100 13.1 1 0.1 10.8 1.08 22 0.22
287 84-74-2 IR —1—A)L=D35—Fk 2 VA VA 0.010 0.1 10 252 0.3 0.3 2.99 0.33 0.33 0.48 0.1 0.1
288 124-63-0 A3 R )ik=)Loy0Ol)k 3 A ZAy 0.011 11 1000 32 34 34 11 0.11
1—FRILIIL—4— (4" —EFOF
289 | 31906-04-4 =4 —AFIIRUF)) —3—2 3 & VAN 0.011 11.8 1000 25.4 5.95 0.595 15 15 11.8 0.118
sanxty
— 7= KIS =
290 504-29-0 2=r3/e)TY j ;:E 3 &\ &\ 0.011 11 1000 12 2.1 0.21 35 0.35 11 0.11
N —[3—(CAFJ)LF7Z/)TAE _
291| 6711-48-4 JLI—N, N=AF)L7ansy— |, ’:E 3 VA 4 0.012 1.2 100 7.9 1.2 0.12 50.3 0.503 48.9 0.489
1, 83— T3 ks
292 | 55066-48-3 i:i ?ijf_jl_) LRvFY 3 2 &\ 0.013 13 1000 16 6.25 0.625 13 0.13
e 2—AFJL—1—Tz=)LTA/NY
293 151-05-3 o =Tt 3 A &\ 0.015 15.4 1000 15.4 0.154
DAFIL=2, 5—~°)7J'jF“/°/7EI’\
294 | 6289-46-9 FHo—1, 4—JHILRFDS5— 3 2 &\ 0.016 1.63 100 51.3 1.63 0163 > | 100 |> 10 > 500 |> 5
~
i TEROXI T ILAZY B _ _
295 1333-16-0 Z ERT2)—JLF] 3 A VAN 0.016 0.84 50 221 10-20 2-4 8.7 0.84 0.168
rel— (1R, 2S, BR) —2—4AY 7
206| 89-78-1 ?t)l':—5—>‘9‘)lf“/’7ﬂ’\**7“ 3 4} 4 0.017 17.6 1000 16.2 5 0.5 71 7.1 17.6 0.176
—)
297 140-11-4 ROV II=F7x452—k 3 VA VA 0.018 0.92 50 110 52 10.4 17 1.7000 4 0.92 0.184
298] 119-61-9 RN IT/IY 3 A VA 0.020 0.2 10 3.53 1 1 > 10 0.2 0.2 10.9 0.54 0.54
299 108-99-6 S—AFILEYDY 3 vAS A 0.020 1 50 320 1 0.2 34 1 0.2 144 1.44
300 123-92-2 ERBR AR FIL 3 &\ A\ 0.021 215 1000 || > 80 i 80 z 8 42 4.2 21.5 0.215
301 108-59-8 TAVEEDAFIL 3 &\ A 0.021 21 1000 386 20 2 > 1 1000 | > 100 21 0.21
RILLFILTER-D/—)L-1, 3
302| 57214-10-5 ,_7I:|/~/:/“ AR T EAY 3 2 VA 9 0.025 £ 25.9 1000 ||#9| 204 10 1 ¥l 298 |#| 298 #¥1 259 |#9| 0.259
303 110-62-3 SEBRT7ILTER 3 &t VAN 0.027 27.9 1000 68.7 18.8 3.76 64.6 25 0.5 27.9 0.279
304|  75-64-9 tert— I FIL T Z :E 3 st 1 0.028 28 1000 16 136 1.36 28 0.28
pzs
305 108-83-8 2. 6—UAFIL—4—~TRIY 3 A AS 0.030 30 1000 46.9 3.55 0.355 37.2 3.72 30 0.3
306 75-66-1 2—AF )TN —2—FF—JL 3 VA A 0.034 34 1000 24 6.41 0.641 6.7 0.67 34 0.34
N—AFO—)LT7 ) ILT AR [H
307| 924-42-5 Z N—(EFOXIAFIL)TOYIL 3 &t VAN 0.035 356 10000 356 0.356
73K]
308 928-96-1 cis—3— "Xt —1—F4—)L 3 A &) 0.038 381 10000 381 0.381
309 4189-44-0 —EBAEFAOLT 3 A VA 0.042 2.1 50 49 9.3 1.86 81 2.1 042 | > 100 |[> 1
310 79-09-4 JaEA B 3 vAs A 0.051 51 1000 48.7 22.7 2.27 51 0.51
311|  89-05-4 lﬁ&g 4. S=AYELTRINIR 3 o} 5} 0.062 6.25 100 8.1 6.25 0.625 63 6.3 >| 100 [>] 1
312 111-44-4 2.2 —HOAaIFILI—TIL 3 G4 A\ 0.062 3.1 50 340 56 11.2 410 3.1 0.62 600 6
313|  88-44-8 }2[;_7/%; TSTATAALELR 3 | 4 51 0.064 3.2 50 |>| 10 21 10 | 2] 2 21 3.2 064 |>| 10 [>] o1
314 92-70-6 B—ErFOXFIRIEE 3 vAs A 0.068 68 1000 64 6.8 1.36 33 10 2 68 0.68
315 111-14-8 NT IR 3 &\ &\ 0.074 74.8 1000 56.4 32 6.4 72 17.9 3.58 74.8 0.748
316 99-04-7 m—kILAILEE 3 &\ A\ 0.082 82 1000 17 4.6 0.92 75 9.7 1.94 82 0.82
317| 109-89-7 YIFINTIY Z ;E 3 2 &\ 0.084 4.2 50 54 11 2.2 56 4.2 084 ||>| 100 |> 1
s
318 520-45-6 3—F7tk—6—AF)L—2—EO/ 3 VA vAS 0.088 8.48 100 28.4 8.84 0884 |[[>| 884 |>]| 0884
319 110-16-7 2L AER 3 A AS 0.089 89 1000 74.35 11.8 2.36 4281 12 2.4 89 0.89
320 137-16-6 N—Soa4)LY)La U Nalg 3 VA G4 0.092 9.2 100 79 9.2 0.92 29.7 297 107 1.07
321 75-29-6 2—A~Oon7o/sy 3 VA A 0.095 95.9 1000 500 74 7.4 103 10.3 95.9 0.959
322 111-27-3 1—~"FH/—)L 3 A &) 0.097 97.2 1000 79.7 11.3 1.13 201 20.1 97.2 0972
D= I b—ILEATH XX
—ERA—w—ERBEFS —R[F > ? ?
2 2625-13- : _ 1 1 1 1 1 1 1
323| 52625-13-5 S AFILIFLAN ] DI—5 3 2 A 0.10 z 0 00 (> 00 > 00 g 0 |2
JL
324| 116-53-0 2—AFILT IR 3 vAs A 0.10 > 1000 10000 > 1000 |> 1
325 298-12-4 SJUAXLILEE 4 VA A} 0.12 6.4 50 33 8.4 1.68 51 6.4 128 (> 100 |> 1
326 98-86-2 TEcDT/ 4 Af A 0.15 155 1000 86.4 24.8 248 528 52.8 155 1.55
327 75-18-3 AL AFIL 4 A &) 0.16 8.3 50 23 14 28 29 8.3 1.66 213 213
£ \sl
328 17194-00-2 IKEBAR/N)™T L 4 2 48 0.18 18.1 100 [[>| 1.92 i 1.92 i 0.192 18.1 1.81 > 35 |>]| 0035
329 111-17-1 3, 3 —FATTAaEAUEE 4 A 4} 0.19 9.81 50 50.1 30 6 73.1 9.81 1.96 > 99.1 | >]| 0.991
330 616-45-5 2—FQlkry 4 A VA 0.22 22.2 100 [[>| 500 22.2 222 |>] 500 |> 50 6782 67.8
331 137-32-6 2—AFITR —1—F—)L 4 VA G4 0.29 29 100 |[>]| 353 29 2.9 >| 173 [>]| 1713 > 120 | > 1.2
332 102-01-2 TrEEEE 7 =R 4 VAs VA 0.29 297 1000 318 180 18 116 11.6 297 297

_‘I‘I_




K)ZR[(THRY—2—A)F2TZ))

333| 22984-54-9 FEL] AFIL) S 4 VAN A 0.30 30 100 94 30 3 120 12 120 1.2
334| 687-47-8 FLERTTFIL 4 vAN AN 0.32 320.0 1000 3500 320 32 683 68.3 320.0 3.2000
335| 108-80-5 A1) T X—ILEE 4 ZA) Ay 0.64 32 50 950 250.00 50 1000 32 6.4 100 1
336| 109-87-5 AT AR 4 VAN vA) 0.69 6990 10000 1200 12 6990 6.99
I L=X L= LiR—
337| (623-53-0) 2-3698 7 FN=RNAT—H 4} AN A 0.62 62 100 62 62 6.2 100 10 100 1
338| 143-22-6 PITF LTI RIITFI 5| s 51 1.7 86 50 920 86 17.2 2210 2| 100 [2] 20 2400 24
FRIDL 1,1, 3—FIAFY—
339 128-44-9 BH=—AR2YJ[dIMVFT7J—IL— VAx 4t VAN 1.8 18300 10000 18300 18.3
2—1F
340 71-23-8 1—2JO/8/—)L VAx VAx VAN 4.5 4555 1000 9170 2000 200 3025 303 4555 45.6
o L=JnExF—
341| 137-40-6 T AT—h AN AN 5% 4.7 4740 1000 80.6 z 80.6 i 8.06 100 10 4740 47.4
3—ekAFXL —2, 2—UAF LT
342| 1115-20-4 AL =3—EtrFaxL—2, 2—-2 A VAN 5% 5.5 559.6 100 2000 870 87 559.6 56 1039.9 10.4
AFLTOEAF—k
1—ARFL—2—(2—ARF T
343| 111-96-6 j@)fgg ( ¥~k VA) 4t AN 6.4 320 50 10000 5000 1000 943 320 64
_60- 2, 2 —[#FPER(THV—2, 1
344 112-60-7 LS LA TN ST A —IL PAx AN VAN 7.7 7746 1000 7746 77.5 10000 10
345| 107-41-5 )2,/_" Fl=2, 4=RLIoT— AN AN A 8.6 8690 1000 1000 1000 200 3200 i 100 i 20 8690 86.9
o RUIFLUS)a—IL(EEEAS,
346| 23783-42-8 5)E /AT L T—F L o) AN AN 22 22900 1000 22900 229 20000 2
a—ERFO—w—tROFIRY[A
o (AFILITFLY)]EB —D—
347 9049-71-2 IHIRIS I = a —D—5 L ZAN VAN ZAN 27 27200 1000 100 10 100 10 27200 272
aES/VRDI—TI)L
348| 100-97-0 l 8.5 7=ThITITIRY j‘a AN A 5} 41 41000 1000 100 i 100 36000 i 99.1 i 19.82 41000 410
_ap_ 2—[2—(2—AFFPIFFU)I
349 112-35-6 FE]TA/—L VAN vAx VAN 2.5 500 200 500 500 50 10000 100
] S — ~ : ] ‘—~ A N 'H'E s
350 6-774 RUTTo KBFRITTUEED) ) o\ o\ Bﬁ(%igﬁﬁ 199 100 1
351| 67762-27-0 Fa—=L{C=16~18) A VAN A} BE(%S% 0.4 0.0004
\ N TR [=Y f - e
352| 8007-43-0 Ve SRR AT L s s 5t B%,%Sﬁ 2| o011 |2] oot
— ShBALN\ S
53| 64742-59-5 KENBESITUREMESN 51 51 51 B%;réit?ﬁ - 1
354| 8030-12-4 KRR 2 7 o B%%;t?ﬁ 100 i 100 10 100 1
355 97-59-6 S—ILAFES UMY PAx VAx VAN Bﬁ(%{jﬁ 100 100 10 100 10 5000 50
356| 661-19-8 O s s 54 B%%Sﬁ 1000
. FRIDL=4—EZJLRUEVR PR 51 BR
357| 2695-37-6 LR —R VAN ZAN VAN (FE ) 1000
SSEES R — N 2 =
358| 103-23-1 }7[/)/ EYBER(2=IFAFY VAN VAN A} B%;’ég?ﬁ 50 i 50 0.0032 0.0032 50
359| 124-10-7 AFN=THITAI TR 2 2 o B%EES% 0.023 i 0.023 0.02 1000
360| 110-05-4 T —tent=IFNANFFUE 5| 5 54 B%%Sﬁ 73.1 160
361| 2425-77-6 2oAFYLAT A=A 4} AN 5} Bﬁz%jﬁ 0.0113 z 0.0113 0.035
1, 3, 5—FJR(2—EFOFT T r——
362| 839-90-7 FIL) A ﬁ/% R)(l/ﬁé A AN VAN AN B%%Sﬁ 1000 > | 1000 1000 100 100
363| 646-06-0 1. 3= XY~ A VAN A} BFEEES% 877 i 877 95.4
FLI5I) BEEISIFE TR 1D EEFMILEYE (x4

PNECEH DIEHT—4

XPNECEH TlE., &P EIXH I EF3HT. PNECE HEEF ((A)/B) (XBEEF24T CHTEZYIVIET) &LT-=.




